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1.2 ii~5l?u~o~~la~srTtlPI;~~~::~u (DiScounted  Benefit Cost

Ratio : B-C ratio)

1.3 ~~5~~~n~u~~nu~~~n~se\n?u  (Internal Rate of Return :
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t$ do”lR~U’ldi  P; P = 0, 1. . . . . .). , .p



82



Tnsani=i  hnsiha;l  mutually exclusive projects L~I$E rzan  B-C
a I

ratio i%jGi?~7un~aJ



8 4

n .  f-m accent  - re ject

p1.  nwG&&  (ranking)

Ft.  nT9  &n?un5b%Tmml5  d¶wEl  mutually exclusive project

3. i1lnRl NPV,  R-C ratio, IRR LW N-K ratio %~?~IuTsME&  z 2104
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,
n 4,040,000 2,760,OOO 1,2G3o,qoo 1.46

21 5,000,000 3,500,OOO 1,5oo,rjoo 1.43

n 3,300,OOO 2,200,000 1,100,doo 1.50
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nisn"7wn  Cut - off period = 5 J thmn31a~-d1  L~TJ:~~u%~-JI~u 5 il Insmis
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3. Pay - off period rate of return duni5k%%mi  pay - off

period “iU~IJk33:  ~rlu Tf%WiT  n .  ?“kl?~?u  2 9 M%?TJ~?J  pay - off period

rate of return = 100-y- = 50% L’~I$E &m~n5m-i5ihk  pay - off period

rate of return td 7 nm

$&m~~uay~  1614  Tn5mi5  n .  il~&ayu  1 0  ~;;UIJVI  bYwamum%u t3a7 4  95-0..
a, ”

20 amm ~518:?8  Net average rate of treturn = (20 - lo)/4 x ,00

50

= 25%

L519::  GonTosmi5ihm  net average rate of return $4  1

nou
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